

חשבו בשיטה בינארית:

א. $110100_2 + 100_2 = \underline{\hspace{1cm}}_{10} + \underline{\hspace{1cm}}_{10} = \underline{\hspace{1cm}}_{10} = \underline{\hspace{1cm}}_2$

ב. $1111000_2 - 1100_2 = \underline{\hspace{1cm}}_{10} - \underline{\hspace{1cm}}_{10} = \underline{\hspace{1cm}}_{10} = \underline{\hspace{1cm}}_2$

ג. $1001_2 \cdot 101_2 = \underline{\hspace{1cm}}_{10} \cdot \underline{\hspace{1cm}}_{10} = \underline{\hspace{1cm}}_{10} = \underline{\hspace{1cm}}_2$

ד. $1100100_2 : 101_2 = \underline{\hspace{1cm}}_{10} : \underline{\hspace{1cm}}_{10} = \underline{\hspace{1cm}}_{10} = \underline{\hspace{1cm}}_2$

שוחרי מתמטיקה גן יבנה תשפ"ג